BARANE R - AAKETER (IBAEHET)

ARNTEREFSREHZFHT - AOKER

1T 4 AR X HE 5 z 5
AGERT Hh I AREHET 1,182 1,495 1,505 3,000
RiEHhig K 828 876 906 1,782
2K BT 7 $h 32§ AHET 7 207 212 240 452
AT R Hhig N 883 933 1,042 1,975
TR b i TR 1,047 1,196 1,375 2,571
=/ Eihig B/E 474 528 580 1,108
T T 4 1 BeH L 201 209 265 474
i 1w 105 142 151 203
miiRithig iR 263 292 349 641
s HAR W 94 95 129 224
AR KE 913 1,033 1,084 2,117
it 2 Ehis dzE 491 543 550 1,093
B M-Af 162 184 187 371
LA 7ot R 201 224 224 448
F& Hhig Be 2,841 3,311 3,704 7,015
HHE A Hhig HES 1,973 2,289 2,565 4,854
ERAE) &g AEN&—~mTH 783 945 1,028 1,973
PR &Rz &EE~ATH 1,484 2,220 2,265 4,485
M B A Hhig MRS 2,377 3,391 3,457 6,848
HE3E A Hhig HmES 2,319 3,365 3,430 6,795
LA Hhig wIlUE 1,838 2,723 2,762 5,485
20,666 26,206 27,798 54,004

BARAGFEEHF - AOEEF (I8 1LELET)

1T I 4 AR X N 5 z i
" e i3 H 188 235 283 518
AR FafaH 418 548 599 1,147
Jb 3 Ehig ITEE 419 567 581 1,148
B E Hhig BETE 673 860 897 1,757
HEF 57 56 80 136
- LR 137 175 181 356
BRI B3 242 337 364 701
ek 46 38 68 106
tm1&E 52 73 89 162
tRo& 132 148 194 342
IRt ERithis +Ia3%F 73 92 111 203
+IH4AE 51 64 73 137
+IH5%E 101 125 136 261
+tih6e&E 166 182 213 395
tR7%& 69 80 86 166
L inraEbitig +in8&E 95 125 123 248
+IHo%E 109 121 134 255
El10& 89 95 118 213
WERXsN 27 25 29 54
= e X 4% 6 4 8 12
R4 72 57 71 128
3,222 4,007 4,438 8,445

T R30F3[ K H
THH 5 5 X H

BAAERARD 29,640 36,628 39,278 75,906
SEAERAO 207 287 254 541
RENHAR 29,847 36,915 39,532 76,447

B A R it#%- A OS5+ (1B NAET)

1T g £ AR X HEH 5 g 5

b b =] 245 288 304 592
BRI b N 126 150 173 323
= H 108 139 151 290
st 1 B 67 79 89 168
IR PR AL KE 221 248 246 494
EIEFE 20 24 25 49
FEFTHT 176 175 203 378
HTHET Hh iz h#TET 140 151 161 312
AL FrHET 132 173 147 320
FaET 183 207 246 453
FG T 16 24 29 53
fin B thig chET 36 35 37 72
BT 97 100 118 218
th 7% 86 89 114 203
i 138 143 185 328
" ERER—TH 52 57 67 124
BRI A1 ERER=TH 295 335 346 681
ERER=TH 59 80 83 163
Rill 56 47 62 109
Lz k 31 18 33 51
it 42 47 47 94
hnyse BAR ik N E 57 56 60 116
INETF 64 63 61 124
$27) 71 77 90 167
(LI 27 39 36 75
HERE 97 102 107 209
FeE) 5 113 133 153 286
AR 95 101 129 230
il 46 48 52 100
R R Hh i ® 32 36 36 72
BEKE& 62 62 73 135
IhVEF 72 69 94 163
mp 40 46 56 102
B 37 39 44 83
=i 38 M 46 87
B/ 12 14 17 31
N 6 7 5 12
7/ 33 40 43 83
ETF 21 27 27 54
2 i ITFF 15 16 21 37
e 11 14 11 25
=P 9 7 9 16
i35 4 3 2 5
N 13 11 14 25
bus 30 37 44 81
AR 45 53 70 123
FINTE & i EIGA= 2,376 2,665 2,876 5,541
5,752 6,415 7,042 13,457

TR 30F3IA KREE

5% HIA R

X5 THHE z H

BARAERAO 29,546 36,649 39,264 75,913

SNEAEFERAO 210 291 250 541

KENMmAA 29,756 36,940 39,514 76,454
(BEH) (BH)

X5 TR 5 z B X5 ik 5
BeE—TH 765 809 943 1,752 wuE—TH 196 243 242 485
HEZTH 561 629 720 1,349 WUE=TH 0 0 0 0
WE=ZTH 278 318 345 663 WILE=TH 1 3 1 4
HemTH 212 263 280 543 WILEMTE 0 0 0 0
HWERTH 734 938 1,012 1,950 WILERETHE 129 202 213 415
H&EATH 87 103 112 215 WILENRTEB 271 402 407 809
HWELTH 204 251 292 543 WLEtETHE 488 751 761 1,512

HESE—TH 227 270 313 583 WILE/INTE 0 0 0 0
HEBZTH 251 309 334 643 BB ATE 22 26 35 61
HEEB=TH 8 9 10 19 BWLE+TE 342 522 541 1,063
HEBMTH 0 0 0 0 wea+—TH 284 438 431 869
HEBRTH 306 353 400 753 WueE+=TH 0 0 0 0
HEBNTHE 177 209 249 458 WueE+=TH 105 136 131 267
HESETHE 338 381 423 804
HEEB/N\THE 368 452 489 941
HEBATH 298 306 347 653

KZINE—TH 338 406 431 837

KEZJINEZTH 101 125 127 252

KENE=ZTH 344 414 470 884

KZEINEWMTH 0 0 0 0

KENERTH 238 391 385 776

REINEARTE 544 761 765 1,526 (&FH)

KENELTH 325 464 479 943 X5 ik i

KZINE/NTH 376 603 636 1,239 mmEe—TH 166 195 209 404

KEINEATH 1 1 0 1 EmE&E=TH 143 147 170 317
MEE—TH 515 762 714 1,476 ENE&E=TH 138 142 160 302
MEEZ=ZTH 135 211 203 414 FENEEmTH 118 132 151 283
MWRE=TH 245 338 376 714 FEINZEERTH 55 61 59 120
MWREMTH 263 345 365 710 EmnE&E/RTH 165 178 205 383
MEERTH 276 394 404 798 mAmEaetTHE 154 164 199 363
MEENRTH 414 578 598 1,176 EmEa/\TH 191 210 234 444
MWEREETH 304 474 472 946 EmEaenTE 187 206 230 436
MEE/NTH 225 289 325 614 mnEs+TH 178 202 207 409
m\EE—TH 293 306 331 637 EmxEe+—TH 257 289 289 578
W\EE-TH 375 535 539 1,074 EmE&sE+=TH 219 267 270 537
WEE=TH 361 558 602 1,160 Emxe+=TH 148 172 176 348
wBEAEMTH 300 458 469 927 Emxae+mTE 118 133 155 288
W\EERTE 371 596 609 1,205 Emxe+ETHE 139 167 162 329
HWEENTHE 328 589 556 1,145
WEELTE 290 322 324 646
HwmEE/\TH 1 1 0 1




